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Questionl

a) Explain the term digital preference in demographic analysis. How is it different from
age heaping?

b) What do you understand by assumption of rectangularity?

c) Explain why the term " crude death rate" is crude.

d) List five sources of age misreporting in African Census age data

e) Outline five common sources of coverage errors in African Censuses

) How iscontent error different from coverage error? (ﬁ}e

g) List three indices of detection of age errors and two indices of graduating age aL\& ﬁ‘

h) Distinguish between age ratio and sex ratio

i) List five sources of demographic data.

j) Copy and complete the following table:
' Index of Detection of Age Error | Interpretation

Myer's Index = 0

Whipple's Index = 205

' Myer's Index= 90

| Whipple's Index=

) Compare and Contrast United Nations Moving Average Method and Newton's
Graduation Formula stating their uses, their procedures and their limitations
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ESERVE

Carefully outlinethe éiepé in éBffiputing the UN Age-Sex Accuracy |ndex.
How isthis index different from those of Myers' and Whipple's?

Discuss the usefulness of standardization techniques in demographic
analysis.

What data will you require to compute age-adjusted rates using the direct
standardization method .

Outline the step-by-step procedures in computing the Myer's Blended
Index

Distinguish between the Whipple's and Myer's procedures stating their
assumptions, limitationsand uses.

Use the data below to compare pattern of age misreporting between
males and females using the Whipple's Index.
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AGE PORAL =, "' MALES FEMALES
0 18l, 557 90,610 93,947

1 270,565 133,306 137,259

2 267,908 132,121 135,787

3 310,691 154,629 160,062

I 316,879 157,067 159,812

5 276,165 136,296 139,869
. 267,697 135,017 132,680
7 24y, 1455 125,554 118, 901

8. 256,912 129,831 127,081

9 258,922 135,073 123,849

10 291,396 152,511 138,882

11 150,757 30, 225 70,532

12 270,521 116,626 123,895

13 173,433 93,586 79,817

10 188,518 104,172 8L, 346

15 26, 345 146,870 117,475

16 185, 338 . 103,146 82,192

17 141,529 80, 7Ll; 60,785

w 18 19l, 906 107,806 87,100
-;{ 19 b 737 81,489 63,248
20 402,982 200,756 202,226
21 300,824 153,879 146,945

22 292,230 143,516 148,71

23 201,960 100,702 10L, 25

2 210,45 102,193 108, 261

25 1,90, 382 229,517 ¥ 260,865

26 211,70l 99, [ 1,0 % 115,264

®7 . 181,069 go, 080 w 90,989

28 221,622 102, 242 119, 380

29 162,985 79, 872 83,113

30 471,203 ~-223,623 27,580
31 9% .2l 6,701 18,540

32 165,973 3,6L2 : 82,23)

33 . 179,417 41,643 - 37,768
3L 72,750 . 37,705 35,055
33... ..248,026 127,994 sus B0 032

30 © 94,187 18,953 TS, 23k

37 50,111 - 27,19% 22,914

38 89,833 46,292 43,541

& 39 6l.,60L 3L, 287 30, 317
.ﬁ,CQQ_ 296,831 158,183 138,6L8
R 5\ﬁi 17,267 251,83 21,78l
-,~2§H-2 77,215 42,956 3,259
e 38,937 21,570 17, 361
\ 45 132,686 74,310 58, 376
L6 3,631 19,159 15,472

L7 22,686 12,865 9,821

8 U5,17Y4 2Ly, 660 20,514

L9 33,008 18,664 10, 344

50 149,252 81,053 68,199

51 18,803 10,201 8,602



